= - BBig &) = =5 = NE
LAFA> =)= s gl & 1
4 B2 XH&EZ | 56.8 2 | 2 10
LN JYANTS-) |&EEs | 556 | c | cC | 3| 3 X
DZIATFAVA |BAXRE| 504 ([Cc | C |5 ]| 7 *
FrLbyblL—J |(AHIEE| 480 (D |D | 4 | 4 7
N Ay K At 471 AR 6 | 8
SWN-Py>1 | HHE 46.2 | E | F (10| 5 11
IR — ERE 45.3 | E | E 9 4
12 e Bl Es EMEER F | E 12 12
A=IOFPXF AlsEE F|F 10 7
RU=ZTVAN\— | 8REX F| F|11| 6
hyMeRYERY  |HIEE |3 F| F 12|11 8
6 ¥130 [tz 5-6-9 ¥16,750
5-6 ¥3,430 Ll 6-5-9 ¥57,970




Ta

o=y
niN

1

u
R

i

1
|

Il
T

1 VE-TJUYEA |Bh%S 1|1 x| x| 1
2 v-dyN-7 | HHE 59.2 2 | 2 11
3 D797FFRr+ | RHEB 55.8 C|D| 6|3 13
4 e i V4 =X | 55.0 | Cc | C |3 |5
5 JUSEAFPS |IURE#%FE | 50.4 DN 5 | 6
6 | 9 |[\=—F1F BADUE | 498 [ D | D | 7 |11 10
7 EVS-495 |ERE | 498 DD | 4| 4 A | 12
'8 [ O |PYMR—TSYT (MERA%E | 46.7 | E | E | 8| 8
o0 BLNTUvIRI—) |HISTES FIE| 9|9
10| 8 [HUILIUF AHER F 111 14
11 =ZbhY BIIEEN E 10 | 12
12 LH—A9E— |BEHE F 12| 10 15
13 H49Y)49n) | EitEES s 13| 15 14
14 | 1 |F42H974 PiTeE 14| 13 7
EHJE-}EI RRiEE 15| 7
I
Hips 3 2-3-5 ¥10,430
3] 2-3 8535 ¥26,020




Ta

o=y
niN

Il
T

il 6 Pl ] i | 1
"2 STZA] mEA | 65.2 i # | 3
3| 1 |FRT- HERA%EX| 55.2 |c|Cc|3]|3 x| 2
"N 10 brVAPE: BRE 50.1 |C | C |4 | 4 w | 7
5 7oA AXX# | 481 (D | D |5 |11 B
6 \WFPS7-)  |FEHi6Es] | 469 | E | E | 6 | 5 5
7 Byt F| F| 8|10 6
8 |FEUYRI1—> E|E |7 |7 =
9 | 5 |KIAbYT F| F|10| 6 4
10 ABA A1 —b F| F| 9|8 8
Eﬂ?w F| F|11]| 9 10
IhR&
6 ¥130 1-2-6 ¥220
= 1-6 ¥540 6-1-2 ¥1,080




Ta

o=y
niN

1 W—TAFY1— |ILhEE g # 1
2 MIN—R | ARHAEE | 66.7 3| 3 # 11
3 Py 7h—)N |KB&S2Z2| 619 (B | B | 2 | 2 o 2
4 |FT—ARIF EigER | 50.0 | C ([ C | 4 | 4 4
5 PHZI5vy1 |EREA| 483 D | D | 5| 6 7
6 yolLbd-k  |AR® | 473 | E | E | 8 |10] 3
7 FI-N7R>— |@IeR| 470 | E | E | 7 |11 9
8 BkRILOTYE {xZFEA | 46.7 | E | E | 9 |14 14
9 | 7 |YaLir— Eas 46.4 | F “ 6 | 12 8
10 INRJF3IDT> |BEEX 450 | F | F |13 10
11| 1 (A—-WIJ>—K |EP*%Z | 43.7 | F | F | 10 5
12 BUNA-N-Yo)  |#NI8E | 431 | F | F |12 13
13 PR S1TWPNY5+ |SiEE I&lle 6
14 [N L1 P 13 12
IhWRE:

14 ¥250 3-12-14 ¥7,400

3-14 ¥650 14-3-12 ¥22,010




= = . = = =
1| 1 |(F=TF14914F |EIE s s | 1
Bl : BN — % | 3
3 VS15h M- =x B(B|3|4 7
a [N IV15-25— |=HE c|B|a]|s x| 5
5 MtYSFEY  |BEE BN 5 | 3 6
6 DJL=2AT A=Y |EHEER E|E | 8|9 10
7 P9I sSREE F| F| 7 |10 8
8 |l y1b-LY FHEYE E|E|6 % | 2
9 IN{ALYINO-X |BRBA - E 4
10 | " WWIRSLIRY | EHmEER F| E |10 9
1-2-9 ¥1,660

1-9-2 ¥5,110




8/13(X) A#6R [RPT10]

C
1| 1 |IR—N— xHE | 1| 1
2 FAVIAT  |EEEK | 3|2
3 KI ZNE | 6 B| B | 2|3
s W GAto007(7 |Eamm | clc|s|o|x
5 PyI15U1-0 BEF— BN 5 | 6 14
6 | 8 |TN—-UnV1-) |BEE D D| 4|4 % | 6
PIIIEFT ARIREE BN 6 |5 | & 12
AW-J-39VF |ERE ElE N 10 | 7
9 BLNYAITV-Y— |HEhi%S F|F |7 |8 A | 7
10 FEN TSIV JEVF— |BREA FIF|o |12 11
11 I{j—nfrtf”— AHEE F - 11| 10 3
12 W >1—"7) AHIEE | 40. F|F 12|14 13
13 B 370> SHSEK | FSEE 11
14 [ERAIMYIVF | HISES | 13
IhE®
7 ¥3,640 7-11-12 ¥47,280
7-11 ¥5,600 7-11-12 | ¥311,920




Ta

[TTH
1

L —

i L2138y =)= 1|1 | o o | 1
2 N—X1Rk PR 59.5 3|3 6
3 SvwHYIF— |=HE= | 58.8 | B 202 2
4 YI3EY BEAXIRIE | 527 | C | C |8 | 8 5
5 | 1 |BRINUYF ERFXK| 500 [D|/D| 4| 4 x| 7
6 JPVHIIAY |ERE | 498 |D D | 6| 6 % | 10
7 [E|5txe-k [mnmm | 480 |E|E|[5]7
8 | 8 |[JvdD—-2 2O | 475 | E | E | 7 |5 | &
o [ |O-kAOVK—)) [wAEA | 463 | F| F | 9 |10
10 L) ERSNF—9— |{EBHEAR | 455 | F | F | 1113 11
11 PEN7V174-17 |AR® | 439 | F | F |13 14 13
12 Pl +75-1757 |#msek | 418 | F | E |10| o 4
13 BUN#4LYh—v—  |BENEEN &l 12 14
14| 7 |yv29nMO- |EwHS 3 11 12
IhNR&®
14 ¥120 3-4-14 ¥1,370
3-14 ¥260 14-3-4 ¥2,470




I : z | BBIER a2 B S
1 BONOVAN— | FHE 1] 2 3
2 9748 =J0L] | KBEZ | 64.0 2 | 3 * |1
3 FHHYI-VY  |[EwIE 57.1 BN 3 | 1 2
'S 3 PZLYL SIEBE | 551 |c|c |8 |7 4
5 LENATLSZ AMEE=| 488 D | D 4 |5 6
6 By Alsee 487 |D|D | 5| 4 % | 5
7 BUN=>F7vE  (WneE | 47.9 [ E | E | 6 |10 x |12
8 RA3vt4oh |ERES | 474 | E | E | 7 | 6 11
9 ENI54 @R | 461 | F I8 10| 9 13
N Oy RE—R SNEBA| 445 | F| F | 9 |11 7
A MUY EREX | 427 | F | F |11 14 14
BN mEE | 425 F | E 12| 8 10
e EIREER G 13
S5—=YI4—=)k |HERES | G 12
8 ¥370 [EEZS 6-8-11 ¥730
8-11 ¥s500 L0 8-11-6 ¥3,430




I[2 = = BBigZN CY= == N =B
1|9 |7-W7P4 ERE 2 | 2 % | 10
Eﬂ-ﬁ—ﬁ—:&r—:‘nw FE%E | 64.6 1|10 x%x| 3
3 I—¥I izl ¥ N 59.5 | B 4 | 3 2
4 | |va-AvAU—- |BEE | 594 |c|c |34 1
5 N 753b41—  |mis 489 DD 8 | 8 | » 5
6 |FLNFAAVA AmimaE | 475 |[D|D | 6 [10] » 13
7 |2 APE— EmEER | 469 | E | E | 7 | 11 A |11
8 FENFURxI9Yy |EBESA | 469 |E | E |5 |9 6
9 PYAMNKT) |EH6ES | 466 | E | E | 13|12 12
10 5 JH—# Wh#%% | 46.0 | F | F | 14
11 P n—5=—7  |¥EE | 458 | F | F | 10 &
12 AE—ZXAEUYh |EEXKIRIE | 449 | F | F | 11| 14
F(—ZXT5(D | KBEZ el 7 14
GNFNRf—7yh  |ETRES 6 G 12|13 8
S b= T 15 15
7 ¥630 2-7-12 ¥2,160
740 ¥1,910 [EL] 7122 ¥18,030




: H10R [RE
[F 5 = alalisps SH= == =|[f
1 PEL/ SREX T x| 2
2 UNI5957 0% |[EEA | 60.7 AE 4
3 l74—XT+y— |aNm%x| 594 | B |B| 3| 3 1
4 HORIVIJVA |ZEEF— | 56.7 | C | D |5 | 5 8
5 A)—I7—2A XHS2Z2| 51.0 DD 4 | 4 11
6 O—k4=yh Wi+ | 489 [D|E |9 | 7 =
7 JI-YTUI— |ERE 486 | E | E | 6 | 6 x| 5
8 | LUSY—J5v(_— NS | 485 | E | E |7 | 8 # | 3
o Lblle—7y7 WAEIE | 432 | F | F | 8| 9 10

En ¥3—-3J1—-)l |PAHE 415 | F| F |11 | 11 6
11 B Fv> ERHE 411 | F | E (10| 10 12

BIsR | B 12 | 12 7

¥3,520

¥10,720




Ta

o=y
niN

Il
T

1 AIYIR RES 1| 1 A1
2 9T 3% SHETE | 54.8 4 | 5 4
3 J-MA—-y— |BE¥— | 534 ([c|D | 7 | 8 3
4 -y — &1 52.6 | ¢ | ¢ I 2
5 LYRVILI—F (KBS Z | 49.2 |D | D | 3 | 4 11
6 LLIFPAUDYII(R |ERE 489 |D|D 9 |7 6
7 Oy1—3 EimsER | 487 |E| E | 8| 9 x| 7
g8 |5 (Jrd-L BEAIRIE | 48.1 | E | E | 5|6 9
o ION5abab-u— |mmE | 451 | F|E | 6|3 x| 8
10| 1 |¥vvANbYT |IuAEE | 416 | F | F |11 10 % | 10
11 BZSS AlsEe F| F|10]|11 5

3 ¥130 2-3-4 ¥2,340

3-4 y340 JEEL D 3-4-2 ¥5 090




L) ]

—y
BN

Il
Fore

1 N_—hF=ZF |EHE= 1|1 * | 2
2 SYIWRYSYY  |KEBHZ | 55.7 2 | 3 4
3 Sv4¥IA—), |3BES | 543 |c | D | 8| 8 6
4 Vo€ ERE 53.1 | €C | C WEWWS 3
5 - EIRIF— | ENIE 508 DD | 3|2 1
Eﬂﬂﬁ‘r‘}?u—f HEA | 506 |D | D | 4| 4 x| 5
7 Bo—OPN>7« |ERE 477 | E E | 6 | 5 % |
8 ENFvIFrY BN | 47.0 | E E 7|9 8
AE=—>JfH—-) |EBXRIE | 444 | F | F |9 | 7 10
hISRYETY  |SHHE 40.6 | F | F |10 11 B

Yo RI7ILIY F | E 11|10 3

8 6-8-9 ¥2,030

8-9 8-9-6 ¥7,170




